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§ is percentages form is Enf P Sad % (¢))
33: % M 3% © 1% (@ 3% W
Inaproportion a:b::c:d , band c are called W cub fytl a:buc:d| @
Percentage ) (D) Ratio =+’ (C) Extremes o2/ (B) |Means o2 (A)
Zakat is deducted at a ratc of LA 0N | )
55% @ 45%© 25% B 35% A
0¥ 40150000 ZuPr S Singebusdis | @
Ushr on a wheat crop produced on natural resources amounting Rs 150000 is
2000 (D) 15000 (©) 5000 (B) 10,000 (A)
Profit is earned when Jiewi el | O
SP = CP =3jad = uhad (O) SP<CP ojcd< siad B) SP>CP =3)p=f > 1ied (A
CP=MP ied= odlts D)
The amount which is paid by the bank on the deposits is called W e Sinf iz bl 22T | (6)
Premium (#; (D) Markup i/ (C) Profit Jb (H) Bomus 4 (A)
The tax charged on all taxable income is called W e e syl EUrirasLy | (D
Income tax ¢/ (D) Markup iS4 () Property tax £0g¢(B) Saldstax X W
3V7 is called _ QES Wi | ®
Radical i (D) ~Rational number sw?c (C) Integer & (B) Radicand sy (A)
The logarithm celculated to the base * 10 is called QLI HELLS ¢ 10 s | O
Natural mumber s#.J (D) Characteristic & (C) Common logarithm (Z.¥)s’¥ (B) issa L5 (A
Fourth torm of 8, = -0 A2 n=5 | (O
0 - © | = ® ;W
G.M between -3 and -12 is bl nl 12423 | AD
+6 M +3 © +3 +9 (A
AUBUO) = (AUB)UC is called w2/ AUBUC) =(AUB)UC | (12)
Intersection of sets C#¥us (C) Commutative law Jisecs (B)  Associative law (irect (A
De-Morgan's la UITh st (D)
(AnB) =7 (AnB)' =7|(13)
AUB @ ¢ ANB (B) A UB QW
| Sl etd R0 Jgmerfi x £ RR)=2,4<x<12 | (14)
fx)=7,4 <x <12 where x is multiple of 2. The domain of fx) is
(345 @ {23456} © {6810} B {468} W
2(x; - ¥) =0 is a property of W et/ 2x -0 =0 | (15)
Harmonic mean bsifr4 (D) Median s (C) Arithmetic mean s> (B) Mode wib (A)
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QNO.2 Write Six short answers to the following = 2X6 =12 Iy Ty

THEMATICS L JR

'u‘ = v‘f
L geBditn 270y

Express the given percentage as fraction in their lowest form 75 %

75% DLt LN ardd)

1

‘Waseem invests Rs 5000 at 5 43 % per annum profit. Find the amount at the end of year

é‘% é.‘-.! Sk 891 g anlec "‘Z.f EPESES | 2
Express the given fraction as percentage , giving your answer correct to 1 decimal place '36
erw:;/d,cﬂJufﬁuxuﬂa*s % L SEFLS | 3
If 45 % of the students in a school are girls. What percentage are boys ?
Rs24, Rs 6 Zpied B Puleids it | 4
Find the ratio of the first quantity to the second in its lowest term Rs 24, Rs 6
Find the SP, when CP = Rs 950 , Profit =10 % 10% =& ‘cus 950 = prodfafpiresjed | 5
Find the CP , when SP =Rs 851 ,Loss =8 % 8% =uld ‘oo 851 =51)ed foErPaiad | 6
Find the selling price , when MP =Rs 2760, Discount=5% _ 5%= sf ‘40 2760 = whbtmfafpied | 7
K 0.4536 = 591 Gkl Fewe 2904021 sekiptonh | 8
Rate of tea in Pakistan is Rs 2.1 per pound. Find the rate per kilogram,
when 1 pound = 0.4536 kilogram
S P NN 4OBL P 5 T % 40,5000 (€1 | 9

Q.NO. 3 Write Six short answers to the following 2x6=12

a2 B Lirige Slits 3 A

Calculate Zakat on gold amounting to Rs 11,10,000

Zplrlsqsiing ) 11,10,000 ASLr/i

1

Ll @ Los§Insink ohys. 15,00,
If a deceased left a property of worth Rs 15,00,000 workout the property , if he left behin

0 el i

a widow

2

2 ¥ 44 s 3,50,000 &

I.J‘, S (}r n}l,s‘,éwd f o

Calculate Ushr on a wheat crop amounting to Rs 3,50,000 produced by artificial resources

o f B L 616 % rinhs 40,000 SELAERST| 4
If the price of an air conditioner is Rs 40,000 , then calculate the amount of sales tax on it at the rate of 16 %

i()"c.-«zml.drfJJIJL(;W”({A'_”ZODc_lflq.r)?b’u:&ﬁ:iulc 5
Khalid works 6 days-week. Find his gross monthly wage , if his rate of pay is Rs 200 per day
(64)'/3 write in radical form and evaluate the result - ZNF Pl (60)2 | 6
5V4 x 5V/128 Simplify it E20 sVaxsv128 |7
2566324 write in scientific notation 22 Ao 2566324 | 8
636.5 x10°® write in decimal form A 2P S o 636.5%10° | 9

Q.NO. 4 Write Six short answers to the following 2X6=12

e Liaige LLibs A Ay

Write the first three terms a.,=n+3

",—lrilt‘j HS a,=n+3

1

Write the next four terms in the sequence 12,16,21,27, ...... L bi2,1621,27, ...... L
Find AM between x> +x+1,x>—x+1 "ir)-w,ufuy/..&x%xﬂ,x’—xﬂ
Find G.M between -2 and 8 Zep b fuenl 24 8

IfA = {234} ; B= {1,3} then find two binary relations in AxB & 4.0 2AXB 7B o

{13};A={234} /i

If X={0,3,5} and Y = {2,4,8) then find XxY and YxX Zr»¥YxX s XxY 7Y = (248} #X={035} /i

Represent F(-3,7) on graph

26 4SS F(3, T

If C°=2(F-32) then convert 97 F° into C° (Centignde)  #Est Q) C TP jC°= 2@ /i

For the data 3,5,6,8,8,9,10 find mean

lepr Lk 3,5,68,89,10 sy

O 0| | |Wv s | W N

(2:!013)

I§
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NOTE: AttemptanyTHREEquestionsﬁomthispart 8x3=24

Frrddladon  2d

L S e LUl IS INL by F 6 4 R 3L e ]
A triangle has sides of length 3 cm , 4 cm and 6 cm. Find the ratio of the lengths of the

sides to one another
Liy?‘du’bu:,lﬁ NS ydg ?)fd’ MdZ(f Td !..,ﬁn@)l.oufhbﬁ w315 4&@1}4}"'{'/1
If 15 % discount on MP of a heater is allowed and still makes a profit of 2 % . If it is sold on MP , What is

profit percentage

(A 54U

(63))

- J90.41/50002 2 I3 40 40,000 S Ly el ) A48 5194007 J710
Calculate the amount of zakat on 10 tola gold and 40 tola silver , if the rate of gold is Rs 40,000 per tola
and rate of silver is Rs 5000 per tola

8.67%3.94

. . 8.67x3.94
Solve with help of logarithm table Kég}' ;_;AJdugLf 1]

(A)- 64U

@

g ba P ol 900 Gl O L

J_n.:-.édf Znl S BIn
Pervaiz buys a window A.C at Rs 900 . He pays 20 % deposit and the outstanding balance plus mark up in
48 months, Mark up the balance is charged at 10 %. Find the amount he saves by paying cash

10% LA g DI EAAB IS i 1 R B, E120 %

Find three GM,s between 2 and 32 Lol L322

W- 14U

®3)

e Pos BT U6 45 % Imeof4s:1,50,000 arisng o,7,00,000 34184 A4
If total income of a person is Rs 7,00,000 with exempted amount of Rs 1,50,000.
Find the chargeable @ 4.5 %
g’& £, agtddR %R = {,yVxEL , yeM Ay < x} /’J B R” FuM={2,3,4} s L={1,23} b
If L={1,23} and M= {2,3,4} then write a binary relation R such that R = {x,y)/xeL ,yeM "y < x}
Also write Dom (R) and Range (R)

(A)- 87U

®)

Draw graph of y=3x qf{..iurlf y= 3x
e bl et ﬁvﬂﬁﬁr.q_&uf it u:/.‘?uf S L 1L LJLLJ" IOOWlLr}.Quﬁdwéz,;
A | 0-29 | 30-39 | 40-49 50-59 | 60-99
By 10 15 25 34 16
The table gives the distribution of marks of 100 students in an end of terms mathematics examination.
Represent the given data using frequency polygon
Marks 0-29 | 30-39
Frequenyc 10 15

—
50-59 | 60-99
34 16

40-49
25

L

(A 94U
(¢:)]
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Fractional form of 70 % is «PuA0% | (D
o 7O e 7w
Ina proportion a:b:c:d , aand d arecalled WS d s a8 Bttt a:buc:d (¢))]
Consequent 2£/5¥ (D) Antecedent L3 (FXC) Means 23 (B) E es o2 ) (A)
On a crop produced on natural resources , Ushr is deducted at therate of &0 yaf ArAsd . e Bisdis | B
20% O 10% (© 5% (B 25% (A
The share of a widow (in the presence of children) is ' Tq,b:f(utur:zr&u: o LAt | (4
oy © ® W
Proft % = ? where SP > CP cssjed > uradfiEei % T | O
i ot gy s 2 i £ e B
The company undertaking the act of insurance is called @ el Qo LIS LS 1zt | (6
Insurance policy ¥y’ (D) Insurance /¥ (C) Insured 4% () [Insurer .us%) (A)
The percentage of profit / markup charged is called w2lf AU, SNy | (D
Principal I (D) Interest . (© Time (" ¢(B) Rate <A(A)
Taxes in the form of duties , motor vehicle taxes are called A AN S-Sy 2y | ®
Property tax U~Zizy (D) Indirect tax oZai (O Directtax s (B) Income tax AW
The tax charged on all the taxable income is called 4,rﬂf ‘q.ﬂg&ﬂ{&; u"-d Jﬁ'rﬂi.gr'g w | @
Excise duty 76 (D) Income tax U~ () Direct tax - =-Asi¢ (B) Sales tax Naldly
In a logarithm of a number the integral part is called walfesal LE K Lows” | O
Real paxt/J‘? (D) Decimal part s (C) Mantissa (> (B) Characteristic A
For2,6,11,17 ... asis omdfas £2,6,11,17 . | QD
24 (D) 21 © 30 @® 220
Geometric mean (G.M) between 1 and 8 is G-bos }/uy»[_ 8 »1!(Q2)
VD 22 © 2 ® 2Nz W
(AUB) =7 (AUB) =713
A'nB O AnB(© A UB (B) AUB (A
For x=1in2x+y=6,wehave y="? y=1? e, x=31 L2x+y=6| (U4
8 D 4@ -B® -4W
The score which occurs most often of a data is called 4.31!{ PRRYNY) .,«ru.‘.ﬁm.f(x.-aéu s
Mode b (D) Mean kst (C)  Median s (B) Geometric mean ki (A) |
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[/

9" CLASS — 12021

1082 = o5 S0 GENERAL MATHEMATICS (iR
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QNO.2 Write Six short answers to the following ~ 2X6 = 12 L i Ln ge bditn 2 Al
. nsen b gk SR GEELZ LN 5 % | 1
Express 5 % % as decimal , give your answer correct to 3 placés of decimal
Express 1.58 as percentage i Luidl158] 2
W R AP SUT US43 % e f SEJF LS | 3

If 45 % of the students in a school are girls. What is the percentage of boys ?

Find the value of x in the proportion 20:50::8:x oz LLAL 20:50::8:x | 4
Find the SP, when CP =Rs 480, Profit =3 % 3%=0 ‘4o 480=spod falrbcs)atd | 5
Find the CP, when SP=Rs 851 , Loss =8 % 8% =uld ‘Lo 851=chijud falphyicd | 6
Find the CP, when SP=Rs 100, Profit=33 1 % 332 %= ‘4 100=chijud fafphyiad | 7
U By S H e 6o Tm 10 L 4 0.22.400 JysSor (g 39,3 0]0.2.1 cekiig bt | 8
Rate of tea in Pakistan is Rs 2.1 per pound. What will be the rate in kg in Saudi Ardbia
if Saudi Riyal =Rs 22.400
Pl gl - 2.0 L8t fone 2% 4G 90002 |9

Saleem invests Rs 9000 at 2 % per annum profit. What is the profit amount at the end of the year

Q.NO. 3 Write Six short answers to the following

2x6=12

2 f e Lirigetditn 3 Al

Calculate Zakat on gold amounting to Rs 11,10,000

Fe 3 il r L3040 11,10,000 i

1

Calculate Ushr on a wheat crop amounting to

sdss 3,50,000 S SS et 3P (NS S 50 Bt 7

Rs 3,50,000 produced by artificial resources

2

Najeeb widow

it oot o e S A2 ss 4,00,000 Loof

Najeeb left a wealth amounting to Rs 4,00,000. He left behind a widow and had no child. Find the share of

If price of a tricycle is Rs 4000. Find the sale

gtk et 2516 % Ing s

tax at the rate of 16 %

A bl

And Rs 1200 benevolent fund

TJ)IU’ “JAJJJ lﬂ!é(}r Jﬂc‘.—'{ﬁdru 1200 J.olg"? /uru 400 Mty
If gross pay of a person is Rs 45000 then calculate his home take salary after deduction of §

two Q1S

400 income tax

Express the following in exponential form

1

Vak

1

T

FdrtPWeiidn.,

Simplify $V81 x 5v27

5V81 x 5v27

ZF

Evaluate log 200 +log 5

log 200 +log$§ Z£J)

00 I\ | O

If logx = 4.4236 then find value of x

. #Epbadfix T logx =4.4236 /i

o

Q.NO. 4 Write Six short answers to the following 2%6=12 E i flge it A Al
Find the next four terms of the given sequence 12,16,21,27, e é:!(iuuﬂu.’: P A
Write the first three terms of 8, =3n— 5 aa=3n-5 i fH| 2]
Find AMbetween x> +x+1, x> —x +1 X +x+1, 8 —x+1 geprag? | 3 ;
Find the 7* term of a GP 2,832, ... 2,832, ey, 22T | 4 |
If A= {-2,1,4}, then write two binary relation in A ’J et ATA={-214} S1| 5

it XXY In Y = (24,8} 41X = (03,5} /1| 6

If X={0,3,5} and Y = {2,4,8} then establish any two binary relations in XxY

If A= {234} andB={1,3}, thenfind AxBand BXA % #BxAsAXB 7B = (1,3} mA= {234} /1 | 7
Represent the point on the graph  H(5,0) /S HG,0 2| 8
For the data 3,5,6,8,8,9,10 find mean 3,5,6,8,8,9,10 |28 il ardz s | 9

(é:f IJJJ)
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NOTE : Attempt any THREE questions from this part 8x3 =24 ESurd et 2d

Z,l;uéd\'/b’u‘l?n;.{:¢2;J1920;.{LJV'LJT&%'_»7204&)¢'..{IJM)‘.{I A- 54

A table costs a carpenter Rs 720 to make. He sells it for R8 920. What percentage of profit did he earn
.irs*"uﬁfét? et Ladd P 15 espedl B 12| @

The selling price of 12 articles is equal to the cost price of 15 articles. Find profit percentage

———

e e o
Zp# o LA ebL ,fc.u:uzunlogsufl(;u’l.dbﬂélﬂfd%—u 45,00,000 ér,.::..f £
A deceased left a property of worth Rs 45,00,000. If he left behind a widow and two son’s. Work out the

ghare of each

T ; e S s 521x10%x12 P -,
Simplify and write your answer in scientific notation '—":—HE;L %; u:(f i v._,m,ng.{ &~

Eppra o Lufe 14% I AIF L Lo fgs 2,50,000 | (A>- 74
Find out the compound markup Rs 2,50,000 for one year @14 % compounded annually

ér)” .'.'»sz #106-413% dkn& bst 5 VN
IfthcA.MbetWeen“ 57 and “b”is 10. Then find the value of b

b S 2 f L P0AS % e r3000 g F 1T g s 4,30,000 LSS i | -840
The total taxable income of a person is Rs 4,30,000 . Ifhe is given rebate Rs 3000 in the tax chargeable ,

then work out the amount he has to pay as an income tax @45%

AUBUO) = (AUBIC Zedin C= {46810} B=(3,69,12) ,A= 234 /1| ®
If A= {234} ,B={3,69,12} and C= {4,6,8,10} Verify that AUBUC)= (AUBUC

Draw graphif y= 3x

e e ILLLS FTAPERR 0 L1004 ot UF L L
s

3 “ﬂ“ﬂl’
Draw histogram to represent the frequency table given of ages of 100 people attending a school function

109 (Sub) — 12021-50000




